
ass_asthma_sev_baseline <= 1.5
samples = 365

value = [135, 230]
class = R - LOAC

samples = 222
value = [4, 218]

class = R - LOAC

True

ass_asthma_ctrl_baseline <= 2.5
samples = 143

value = [131, 12]
class = NR - LOAC

False

samples = 122
value = [122, 0]

class = NR - LOAC

ass_asthma_sev_baseline <= 2.5
samples = 21
value = [9, 12]

class = R - LOAC

biom_ige_total <= 1621.0
samples = 13
value = [1, 12]

class = R - LOAC

samples = 8
value = [8, 0]

class = NR - LOAC

samples = 11
value = [0, 11]

class = R - LOAC

biom_ige_total <= 1811.5
samples = 2
value = [1, 1]

class = NR - LOAC

samples = 1
value = [1, 0]

class = NR - LOAC

samples = 1
value = [0, 1]

class = R - LOAC


